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In the following task, complete the following steps:
1. Compute the correct answer. 
2. List all of the mathematics concepts/skills you used.
3. Write down the grade at which the concepts/skills are taught and the applicable domain, cluster, or standard.
4. List mathematics concepts/skills in later grades/courses that build upon/expand the information from #2.
5. Reflect on what you just have written.  What do you notice about the task’s reliance on COHERENCE? 
An equipment rental company has 2 different penalty options for returning a piece of equipment late: 
Option 1: On day 1, the penalty is $10. On day 2, the penalty is $20. On day 3, the penalty is $30. On day 4, the penalty is $40 and so on, increasing by $10 each day the equipment is late. 
Company 2: On day 1, the penalty is $0.01. On day 2, the penalty is $0.03. On day 3, the penalty is $09. On day 4, the penalty is $0.27 and so on, tripling an amount each additional day late. 
[bookmark: _GoBack]Jim rented a backhoe using option because he thought it had the better late return policy. The job he was doing with the backhoe took longer than he expected, but it did not concern him because the late penalty seemed so reasonable. When he returned the backhoe 12 days late, he was shocked by the penalty fee. What did he pay, and what would he have paid if he had used Option 1 instead? 


Additional Questions for discussion:
1. Write the formula for the sequence in option 1.
2. Describe the sequence.
3. Write a formula for the sequence in option 2.
4. Describe the sequence.
5. Which of the 2 options grows more quickly? Why?
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